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GUESS PAPER-2010
CLASS-XII
SUBJECT- CHEMISTRY
Time : Three Hours                                                                             Max. Marks : 70

General Instructions

1. All questions are compulsory.

2. Question nos. 1 to 8 are very short answer questions and carry 1 mark each.

3. Question nos. 9 to 18 are short answer questions and carry 2 marks each.

4. Question nos. 19 to 27 are also short answer questions and carry 3 marks each

5. Question nos. 28 to 30 are long answer questions and carry 5 marks each

6. Use log tables if necessary, use of calculators is not allowed.

1. Which of the two CdCl2 or NaCl will produce valency defect when added to AgCl crystal?                       1

2. Why?Some of the glass objects recovered from ancient monuments look milky instead of being

 transparent .                                                                                                                                                                 1

3. If a reactant is taken in excess,what will be the order of the reaction w.r.t that reactant?                       1

4. What is collision frequency?                                                                                                                                   1

5. Which oxide of nitrogen is solid?                                                                                                                           1

6. Write the IUPAC name of  ClCH2CH =CHCH2Br                                                                                                    1
7. Why Bezaldehyde  doesnot  give Fehling solution test?                                                                                   1
8. What type of bonding helps in stabilizing the α helix structure of proteins?                                                1
9. Silver forms ccp lattice and x ray studies of its crystals show that the edge length of its unit cell

Is 408.6 pm.Calculate the density of silver.(Atomic mass of silver =107.9 u                                                      2
10. If a current of 0.5 amp flows through a metallic wire for 3 hrs, then how many electrons would flow 

Through the wire?                                                                                                                                                        2
11. Why adsorption always exothermic?                                                                                                                 2
12. Delta is generally formed when river meets the ocean .Why?                                                                      2
13. Write the balance chemical equation for the reaction of Cl2 with hot and concentrated NaOH.Is this reaction a disproportionation reaction?Justify.                                                                                                      2
14. Why is the bond angle of PH4+ higher than in PH3+ ?                                                                                       2
15. Explain why is ortho-nitrophenol more acidic than ortho-methoxyphenol?                                              2
16. write the mechanism of the reaction of HI with methoxymethane.                                                             2
17. Accomplish the following conversions:                                                                                                              2
1. Benzene to m-bromophenol

2. Aniline to 2,4,6-tribromofluorobenzene                                                                                                              2
18. Write the short notes on:

1. Carbylamine reaction 

2. Gabriel phthalimide synthesis                                                                                                                                2
19. Predict the products of electrolysis of

1. An aqueous solution of AgNO3​ with platinum electrodes

2. A dilute solution of H2SO4 with platinum electrodes

3. An aqueous solution of CuCl2 with platinum electrode.                                                                                    3
20.During nuclear  explosion ,one of the products is Sr90with half life of 28.1y.If 1µg of Sr90was absorbed in the bones of a newly born baby instead of calcium ,how much of it will remain after 10 years and 60 years if it is not lost metabolically.                                                                                                                            3
21. The choice of a reducing agent in a particular case depends on the thermodynamic factor. How far do you agree with this statement? Support your opinion with examples.                                                        3
22. Assign a reason for each of the following statements;

1. Perchloric acid is a stronger acid than sulphuric  acid.

2. SCl6is not known but SF6 is known.

3. SF6 is used as a gaseous electrical insulator.                                                                                                       3
23. Draw the structures of optical isomers of :

1. [Cr(C2O4)3]3-

2. [Cr(NH3)2Cl2(en)+

3. [PtCl2(en)2]2+                                                                                                                                                                      3
24. A sweet smelling organic compound A is slowly oxidized by air in presence of light to a highly poisonous gas. On warming with silver powder, it forms a gaseous substance B, which is also produced by the action of calcium carbide on water. Identify A and B and write the chemical equations of the reactions involved.                                                                                                                                                       3
25. How is Bakelite made? What is its major use? Why is Bakelite a thermosetting polymer?                     3
26. What is glycogen? How is it different from starch?                                                                                         3
27. Describe the followings

1. Antimicrobials

2. Antifertility drugs

3. Edible colours                                                                                                                                                            3
28.a. The depression in freezing point of water observed for the same molar concentrations of acetic acid, trichloroacetic acid and trifluoro acetic acid increases in the order as stated above.
      b. Calculate the depression in freezing point of water when 20.0 g of CH3CH2CHClCOOH is added to 500 g of water.( given Ka=1.4X10-3,Kf=1.86 Kkg/mol

                                                                        or                                                                                                              5
a. State Henry‘s law and mention its two important applications .

b. Henry’s law constant for CO2 dissolving in water is 1.67X108Pa at 298 K.Calculate the quantity of CO2in 1L of soda water when packed under 2.5 atm.CO2 pressure at 298 K.
29. a. Give reasons for the following :

1. Actinoids exhibit greater no,of oxidation states as compared to lanthanoids in general .

2. Though a transition metal,scandium does not exhibit variable oxidation states.

b.1. Describe oxidizing properties of potassium dichromate.

    2. The colour of potassium dichromate solution changes with the change in pH of the solution .Explain how?

                                                                                               Or                                                                                      5
a. Use Hund’s rule to derive the electronic configuration of Ce3+ ion ,and calculate its magnetic moment by using spin only formula.(Z=58)
b. Black solid A reacts with KOH or K2CO3 in presence of air to give B which forms green solution .When  Cl2 gas is passed through green solution the colour of solution changes to purple due to formation of C .Identify A,B,C and write chemical equations. 

30. An organic compound A (C3H6O) is resistant to oxidation but forms compound B (C3H8O) on reduction. B reacts with HBr to form the compound C.C with Mg  forms Grignard reagent D which reacts with A to form a product which on hydrolysis gives E. Identify A to E. 
                                                                                   Or

Identify A to E in the following series of reactions:

    [O]                       Ca(OH)2      Distill                  LiAlH4                       HBrs
A-----------------B---------------C----------------D-----------------------E--------------CH3CHCH3
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